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QUESTION 1

One of the important requirements of Pega Web Mashup is to ensure that the same-origin policy is following. From the
following options, select two valid configurations. (Choose TWO)

A https:ljwww.pega.com/MyWebApplljhoni::n;.htrnl . https://www.pega.com{MyWebApp/gadgetA.hnnl
B https://www.pega.c:om/MyWebAle'\ome.html | http://www.pega.cmn/MvWebApp/gadgetA.html
c https: I/www.pega.conVMyWebApg}_hom-?Jhtml . https://www. pega.com/MyGadgets/gadgeta_html
D htl:ps://www,pega.com]MyWebAppjham}lt;,htr'rll Il https://www.pega.com: 78 78/MyWebApp/gadgetA.ht

A. Configuration A
B. Configuration B
C. Configuration C
D. Configuration D

Correct Answer: AC

QUESTION 2

A pega application has cases that represent customer accounts each with many members.

When a member of a customer account registers with the application through an offline component, a related
registration transaction is recorded. An advanced agent updates the customer account cases with new members. The

application is running in a multimode system and advanced agents are enabled on all nodes. Which two elements are
valid design choices? (choose two)

A. Use the optimistic locking option on the case types.

B. Create a Registration subcase configured to run in offline mode.

C. Leverage the default object lock contention requeuing capability.

D. Override DetermineLockString to use .AccountID instead of .pyID as the lock string.

Correct Answer: BC

QUESTION 3

XYZ Corporation would like a report that shows the number of employees who have been with the company more than
20 years, between 15 and 20 years, between 10 and 15 years, between 5 and 10 years, and less than 5 years. How do
you implement this report using Pega?

PEGAPCLSA85V1 VCE Dumps | PEGAPCLSA85V1 Practice Test | PEGAPCLSA85V1 Braindumps 2/6



https://www.certbus.com/pegapclsa85v1.html
https://www.certbus.com/pegapclsa85v1.html
https://www.certbus.com/pegapclsa85v1.html

www.CertBus.com https://www.certbus.com/pegapclsa85v1.htmi
CE RT 2024 Latest certbus PEGAPCLSA85V1 PDF and VCE dumps Download

A. Use a SQL Function.

B. Use a listView with a custom getContent Activity.
C. Use a correlated subreport.

D. Use a Connect-SQL rule.

Correct Answer: C

QUESTION 4

A case can be withdrawn using a local action. You want to restrict the ability to withdraw a case to the user who created
the case or any work group manager of the user. Select three rule types used in combination to achieve this
functionality. (choose three)

A. Access Deny

B. Access When

C. Access Control Policy

D. Access of Role to Object

E. Privilege

Correct Answer: ADE

QUESTION 5
XYZ Corp requires employees to designate alternate operators to perform their work while they are on vacation. Work
vacationing operators should be visible to alternate operators. How do you configure the application to handle this

requirement?

A. Add a ValueList Property to Data Admin-Operator-ID. Alternate operators add vacationing persons to their ValueList.
Modify the Assign Worklist report definition to include this ValueList. Modify security accordingly to allow access.

B. Modify the user portal to only display team members for which the operator has been designated an alternate.
Clicking on an operator displays that operator\\'s worklist. Assignments are opened accordingly.

C. Define a custom Access When rule named pxAssignedToMeOr Alternate. Modify the pyUserWorkList Report
Definition using this rule to display every Assign-Worklist assignment within the WorkGroup.

D. Develop an agent that transfers worklist assignments from the operator going on vacation, when that vacation starts,
to the alternate operator. When vacation ends, transfer uncompleted assignments back.

Correct Answer: B
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QUESTION 6

An application contains cases which transition though different statuses throughout their life cycle which typically lasts 3
months.

Design a reporting strategy to display the number of cases by status at the end of each month for a 12-month period.
A. Configure an agent to record monthly case status in a separate table and report on that table.

B. Configure an activity to generate the data in the clipboard and report using a custom section.

C. Configure a summary report that leverages sub reports for each month.

D. Configure a Declare index to record case data to a separate table.

Correct Answer: B

QUESTION 7

When do you use the load-datapage activity method?
A. To refresh a data page

B. To queue the data page for a default agent

C. To initiate the loading of a data page

D. To run a connector asynchronously

Correct Answer: C

QUESTION 8
DRAG DROP

XYZ Inc.\\'s COE wants case life cycle developers to use a field group named "Claim" regardless of the application
being developed.

Select and move the three tasks that the COE performs for this requirement to the Task List column and place them in
the correct order. (Choose Three)

Select and Place:
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Correct Answer:

QUESTION 9

In order to produce a complete view of a customer, a customer service(CS) application requires reference data from
multiple external systems. The customer data resides on a customerinfo page in a parent case type. The data on the
Customerinfo Page is also used by some of its subcases. Sometimes, the connectors that populate the data page are
slow.

Which two of the following approaches for handling the required reference data from the external systems uses the least
system resources? (Choose Two.)

A. Use Case Designer data propagation to copy the data to the subcases to populate the page contents.
B. Use the Load-DataPage method to initiate the population of the page contents.

C. Use the system of Record (SOR) data access pattern to populate the page contents.

D. Use the Snapshot data access pattern to populate the page contents.

Correct Answer: AD

QUESTION 10

You oversee a medium-size development team, and some of the team members are new to pega. What are the most
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efficient ways to ensure that the rules the team creates adhere to best practices? (choose two)

A. Have new team members create and run Pega automated unit tests against their rules.

B. Use Pega Log Analyzer to identify exceptions associated with the new team members.

C. Run Tracer on each rule the new team members check in to identify an failures in rule execution.
D. Leverage the rule check-in approval process to review the new team member\\'s changes first.

Correct Answer: BD

QUESTION 11

Which three approaches arc considered a PegaUnit: testing best practice? (Choose Three)
A. A test ruleset is placed at the top of an application\\'s ruleset stack.

B. A test case uses limited assertions.

C. Atest case groups relevant asseitions together.

D. A test case is not necessary when an error message is the expected result.

E. A test case focuses on a single area of functionality.

Correct Answer: BDE

QUESTION 12

You isolated the problem to node ! of the cluster. Y see node 1 goes down shortly «ift
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